



BAROLO 'ANTEPRIMA' 2021 VINTAGE

2021 has benefitted from perfectly year yielding wines that are expressive perfectly formed virile tannins.

Is this the new norm?

Wines that can be enjoyed immediately or cellared for the long term. Chablis is seeing the same trend, elevated terroir expressions even in the tank.

Precocious times, seemingly playing to comparable to the near perfect 16s. our impatient generation.

But this is Barolo, and Nebbiolo is never timed weather events throughout the that straightforward. It seeks to drive intrigue and exploration. The journey of yet hold promise for long ageing in the the 21s is not mapped out. There will be peaks and troughs in terms of expression and poise.

> The tighter tannic drive and more sober edge to the fruit does however suggest that these wines are here for the long term. Poised and precise this shows all the signs of another top vintage,





PIEDMONT, ITALY BAROLO

Growing year - 2021:

The preceding winter was mild, there was rain and even some snow to fill up the water table for the coming season. Some precocious buds in Monvigliero and La Morra suffered with April frosts, losing up to 40% in unlucky vineyards.

Potential yields, measured by fruit on the vine were down about 10% on 2020 removing the need to green harvest for most. The summer was warm with no excessive heat spikes. Low rainfall was supplemented by the healthy water table. Grapes flourished with the uncomplicated growing conditions.

Autumn arrived mid September when cooler nights widened the diurnal range following a short spell of rain. The naturally sluggish ripening of the all important phenolics embraced this gentle change in seasons and ripened beautifully.

Picking pushed into the first week of October, later than recent vintages.

2021 is a vintage offering producers the opportunity to make top class age worthy wines.

It seems the Barolista are on a roll!

Harriet Tindal MW









A 12ha estate run by Fabio Alessandria the great-grandson of Giovanni Battista Burlotto. Having studied oenology at Turin University Fabio spent several harvests gaining experience outside Italy coming back to the estate in 1999. Fabio uses French oak barriques ranging from 4 to 34 years old, he believes the finer grain gives his wine a tension and sheen that Slavonian oak can't achieve. Burlotto produce some of the most sought after wines in Barolo.

G.B BURLOTTO
VERDUNO

		VINTAGE	CASE SIZE	UNDER BOND BOTTLE PRICE	UNDER BOND CASE PRICE
0	Barbera d'Alba	2024	6	€19.17	€115.00
0	Verduna Pelaverga	2024	6	€20.00	€120.00
0	Langhe Nebbiolo	2024	6	€24.33	€146.00
0	Barolo	2021	6	€53.33	€320.00
0	Barolo 'Acclivi'	2021	6	€88.00	€528.00
0	Barolo 'Castelletto'	2021	6	€88.00	€528.00
0	Barolo 'Cannubi'	2021	6	€101.67	€610.00
0	Barolo 'Monvigliero'	2021	6	€101.67	€610.00

*PLEASE NOTE - BURLOTTO BAROLOS AVAILABLE MARCH 2025, THE REST - NOVEMBER 2025



ROCCHE COSTAMAGNA LA MORRA

A 14ha estate run by Alessandro Locatelli who has worked hard in recent years to improve all parts of this estate. His aim is to offer an unmistakeable expression of Barolo from La Morra, enhancing complexity, elegance and finesse. Winemaking is traditional – twenty days of maceration post fermentation followed by up to 36 months in large older Slavonian barrels.

ROCCHE COSTAMAGNA

I A MORRA

		VINTAGE	CASE SIZE	UNDER BOND BOTTLE PRICE	UNDER BOND CASE PRICE
•	Barolo	2021	6	€29.17	€175.00
•	Barolo 'Rocche dell'Annunziata'	2021	6	€37.00	€222.00
0	Barolo Riserva dell'Annunziata 'Bricco Francesco'	2019	6	€55.83	€335.00

*PLEASE NOTE - ROCCHE COSTAMAGNA WILL AVAILABLE JUNE 2025



CAVALLOTTO
CASTIGLIONE FALLETTO

A 25ha organic estate run by Alfio Cavallotto this estate is sited in one of the regions most prestigious vineyards Bricco Boschis. Alfio believes this vineyard to be an exceptional menzione producing wines of great elegance. Their wines are made in the traditional way using extended maceration and up to 36 months in Slavonian oak botti.

CAVALLOTTO
CASTIGLIONE FALLETTO

		VINTAGE	CASE SIZE	UNDER BOND BOTTLE PRICE	UNDER BOND CASE PRICE
•	Langhe Freisa	2023	6	€22.50	€135.00
•	Langhe Nebbiolo	2023	6	€30.83	€185.00
•	Barolo 'Bricco Boschis'	2021	6	€82.67	€496.00
•	Barolo 'Bricco Boschis' Magnum	2021	3	€176.67	€530.00
•	Barolo Riserva Vignolo	2019	6	€122.50	€735.00
•	Barolo Riserva Bricco Boschis Vigna San Giuseppe	2019	6	€161.67	€970.00
0	Barolo Riserva Bricco Boschis Vigna San Giuseppe Magnum 1.5l	2019	1	1	€345.00
0	Barolo Riserva Bricco Boschis Vigna San Giuseppe Jeroboam 3l	2019	1	1	€680.00

*PLEASE NOTE - CAVALLOTTO READY APRIL 25 - BAROLOS, REST JUNE 2025



GD PORRO SERRA LUNGA D'ALBA

Having worked on the family estate all his life, his 3 menziones situated around the winery – Lazairasco, Santa Caterina and IPari are exposed south-east and south-west taking full advantage of the sunshine and creating styles made in the traditional way that demonstrate the weight and concentration that Serralunga is famous for. This is not to say the wines are giants; Guido manages to pursue and extract a fragrance and precision in his wines that is quite extraordinary. Recently Guido has been joined by his son Fabio, an ambitious and talented winemaker.

GD PORRO SERRA LUNGA D'ALBA

		VINTAGE	CASE SIZE	UNDER BOND BOTTLE PRICE	UNDER BOND CASE PRICE
0	Barolo 'Gianetto'	2021	6	€32.67	€196.00
0	Barolo 'Gianetto' Magnum	2021	6	€75.00	€450.00
0	Barolo 'Santa Caterina'	2021	6	€35.00	€210.00
0	Barolo 'Santa Caterina' Magnum	2021	6	€81.67	€490.00
0	Barolo 'Lazzairasco'	2021	6	€37.67	€226.00
0	Barolo 'Lazzairasco' Magnum	2021	3	€84.00	€252.00
0	Barolo'Vigna Rionda'	2021	6	€97.67	€586.00
0	Barolo 'Vigna Rionda' - Magnum	2021	3	€190.00	€570.00

*PLEASE NOTE - GD PORRO WILL AVAILABLE MARCH 2025



PODERI LUIGI EINAUDI DOGLIANI

Matteo Sardagna is the 4th generation of this 60ha estate. Since 2001 Matteo has been working on his Barolos with famed oenologist Beppe Caviola. He has been purchasing some of Barolo's most esteemed vineyards. The last five years have seen considerable investment in this winery.

PODERI LUIGI EINAUDI

BRUSSIA

		VINTAGE	CASE SIZE	UNDER BOND BOTTLE PRICE	UNDER BOND CASE PRICE
0	Dogliani Dolchetto	2023	6	€11.00	€66.00
0	Barolo 'Pelaverga'	2023/24	6	€15.83	€95.00
•	Barolo 'Ludo'	2021	6	€33.50	€201.00
0	Barolo 'Terlo Vigna Costa Grimaldi'	2021	6	€45.67	€274.00
0	Barolo 'Cannubi'	2021	6	€60.00	€360.00
0	Barolo 'Bussia'	2021	6	€60.00	€360.00
0	Barolo 'Monvigliero'	2021	6	€60.00	€360.00

*PLEASE NOTE - PODERI LUIGI EINAUDI WILL AVAILABLE MARCH 2025



PRUNOTTO MONFORTE D'ALBA

In 1904 a cooperative Ai Vini delle Langhi was set up by wine growers of the area; this was subsequently taken over and renamed by Alfredo Prunotto in 1923. After another change of ownership, Antinori acquired the estate and have maintained the excellent level of quality sought by Alfredo Prunotto.Prunotto were the first winery to establish the Cru's concept. Recent expansions into Bussia as well as Serralunga have seen Prunotto focus on specific crus in pursuit of excellence in their estate.

PRUNOTTOMONFORTE D'ALBA

		VINTAGE	CASE SIZE	UNDER BOND BOTTLE PRICE	UNDER BOND CASE PRICE
•	Occhetti Langhe DOC Nebbiolo	2021	6	€15.33	€92.00
•	Barolo DOCG	2020	6	€31.33	€188.00
0	Vigna Colonnello Barolo DOCG Riserva Bussia	2017	6	€141.67	€850.00
0	Barolo 'Cerretta'	2017	6	€141.67	€850.00

*PLEASE NOTE -PRUNOTTO WILL AVAILABLE TBC





BAROLO 'ANTEPRIMA' 2021 VINTAGE

TERMS OF OFFER

All wines are offered UNDER BOND excluding duty and VAT (12bt case duty = €38.24, 6bt c ase duty = € 19.12)

WINES MAYBE TRANSFERRED UNDER - BOND, OR DUTY TO BE PAID ON ARRIVAL IN ADDITION TO ABOVE PRICES .

- Wines to be shipped between March and December depending on supplier
 - Payment in full due on invoice.
 - Offer available subject to availability of stocks
- All orders are subject to final confirmation and stocks remaining unsold

Please contact: HARRIET TINDAL MW htindal@tindalwine.com

to reserve any of these wines.

THIS EXCLUSIVE OFFER EXPIRES ON MARCH 1ST 2025.



NOTES



